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EXr—o35X ZRILAOSR
Pos | I>bF5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos|I>bM5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |kei 20 20 20 60 1 |[ecs(nowsTow 15 15 20 50
2 |BEKk — & 12 15 15 42 2 |55 20 12 12 44
3 |IEL 8 8 20 36 3 | LH =i 8 12 20 40
4 |BEEE KA 15 10 6 31 4 |/NEF ESE 20 10 30
5 [[AREE(O> R—) 8 10 10 28 5 |/If IEX 12 15 27
6 (I>/ 15 15 6 |k 8 15 23
7 |EUHDEH 12 12 7 |r>rovvsTIan 10 6 16
8 |MIR #&EF 12 12 8 |[YN 6 8 14
9 |NK 12 12 9 |orangeDONJOY 6 10 8 12
10 (AHDIr 10 10 10 [/BEE 3K 10 10
11 |WD 8 8 11 [FEK ME 6 6
12 |&o5 6 6 =R BUSX
13 |/R>Owv 6 6 Pos| T> M54 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
14 [EEET 6 6 1 |PPFRVSE 12 20 15 20 67
Fv L >ZH~CARTS X 2 |BRACS 20 15 12 47
Pos| T>M5> 4| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 3 (Ml B 15 20 35
1 [hABeA 20 15 15 12 62 4 |ER BHOUN Y 12 8 12 32
2 | PS5 12 10 20 42 5 V8 Fa 8 10 18
3 [D&EA 15 20 6 41 6 |RD 8 10 18
4 |TEh 6 20 15 41 7 |EBED 6 10 16
5 |WE&SEA 10 8 12 10 40 8 |#kH =2 15 15
6 |&EBFA 10 8 18 9 |IEFED 6 8 14
7 |BEE 12 12 10 |Z—%° 10 10
8 |YaD 6 8 6 11 [#x B— 6
FrL>22O5X 12 4T BB 6
Pos| I>bF5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total ITHFX/)=hk
d DERNA 20 20 20 20 80 Pos|I>bM5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
2 |[&Ebn 15 8 15 12 50 1 [0THEPA 10 15 15 40
3 |13z /Ry 12 6 12 6 36 2 |fERE MR 20 8 28
4 |[>A=33TF 15 10 25 3 [ehE> 20 20
5 |&EB5FA 6 15 21 4 |BH= 20 20
6 |HRAK 12 12 5 |IUzxo& 20 20
7 |tZFKREBX2 10 10 6 [RBRi(ETEHF) 8 12 20
9 [kei 10 10 7 |T3HEBA 6 12 18
8 |Ya—RkR& 8 8 8 |ddBdHL 15 15
10 |(F>—A 8 8 9 |(FW™! 15 15
11 |LLG/UR 8 8 10 |BEE =8 12 12
K-CARIUSR 11 |ZLHE 12 12
Pos| I>bF5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 12 |miya 10 10
1 |K 20 15 20 12 67 13 |FUL» 10 10
2 |I2vD 15 20 20 55 14 |DATz 10 10
3 |[FdE 12 15 15 42 15 (B &— 8 8
4 |aqu 8 10 10 28 16 |FHEFFA+ 8 8
5 |~ 12 8 8 28 17 |==h'E 8 8
6 [<ZFEW 10 12 22 18 |SU— 8 8
7 |12 8 6 14 19 [EABYTA 6 6
8 |rz\E 10 10 20 [IxXH= 6 6
9 |IEE Y— 6 6
10 ((FZFH 6
11 LT 6 6




